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3.

(3)

&derodo1lO_ gira ?-qd idrbmaoddd>

Od.,a"liDd)d)

(1) p
(1 +p)

(2)
(1 +p)

p

F
(1 - tr)

(1 -p)(4)
tl

dn uo"d :{td_Oo$*d. ?,JdaEJDd 6!eo$di
&eridenzb{d:

(1)

(2)

(3)

(4)

erddF Db
do"ebeoj: aa&

o

do^oioeou:derd aaaot.r

rooE,egvd d>do.e.:o edtod m,J2)

io"ledd ?.qd C rl cr&d)

drladroddoddd - * Jtuddeoaod

eeobqd

(1) m=700/3C

(2) m =140O/BC

(3) m=280O13C

(4) m =35OO/3C
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4, d:dfl nodt3d dea -dost- *dcb -
d:&rr edrld deaio$ aof $*dO-
(1) 0.075 rnm - 4'75 mm - 150 mm -

300 mrn

(2) < 2 pm - 4'75 mm - 150 rnrn -
300 mm

(3) 321tm - 0'075 mrn - 4'75 mm -
150 'nm

(4) <2V"m - 4'76 mm - 150 mm -
180 mm

$ded dDdoo$$ erdd Jda
d.

tsAeo3rOJl3.e Eadoe1orf' dedoiO-

qidre8amri 1730 g ea6dc. e-eio!o-${d
riJag&d &eej dJod 1440 g qddoJd

aeDodd dedoaad:

(1) l6'76Vo

Q) 20'l4Vo
(3) 2.940

(4) 5l Dedo

(JiJoe (AASHTO) d:eo: dflerddeaam
d.ddo$ d,rod rbodr inzo"od'0' rbdr'20'aOaJr
dJo?JiDdd)

(1) eru{* erudddr $dl ddd erudddr

(2) dSJ ertdddr drQ eru{d: enrdddF

(s) aeJ eruad*r drQ endd erudddF

(4) Soed e,tdddr drQ cg E ed

erudddr di;

l)

6.



1 The coefficient of earth pressure at rest is

grven by

Ir(1)
(1 +p)

(1 +p)(2)

(3)

p

p
(1 -p)

(1 -p)@)
Ir

2.

3.

A fluid which obeys Newton's law of
viscosity is termed as

(1) Real fluid

e) Ideal fluid

(3) Newtonian fluid

(4) Non-Newtonian fluid

The modular ratyi m of a concrete whose

permissible compressive stress is C, may

be obtained from the equation

(1) m=700/3C

(2) m=1400/3C

(3) m -- 28O0l3C

197

@) m = 35OO|3C

(3-A)

4 The arrangement for the particle size for

the soil composition clay-silt-sand-gravel

in the ascending order is

(1) 0'075 mm - 4'75 mm - 150 mm -
300 mm

(D < 2 pm - 4'75 i"m - 150 rnr' -
300 mm

(3) <2pm - 0'075 mm - 4'75 mm -
150 mm

(4) S 2 pm - 4'75 'r,rn - 150 rnm -
180 mm

4 sample of soil, extracted in its natural
state using.a sampling tube was found to

have a mass of 1730 g. The oven-dried

mass of soil was L44O C.The natural
water conteDt of the sample computed

was found to be

(1) 16'767o

(2) 20.t4%

(3) 2.9%

(4) A]Ithree

As per the AASffll soil classification

system, a group index (GI) of '0' and '20'

indicates,

(1) Good sub-grade and poor sub-grade
material

(2) Poor sub-grade and good sub-grade
material

(3) Low sub-grade and high sub-grade
material

(4) Low sub-grade and very low sub-
grade material

a).

6.



7 rq{[,tr, d&Fc droelodd[^3d, ?rFae,r gejrldc

io"ledoa md:drr ddadJddd 6D6&

(1)

(2)

(3)

(4)

40 - 50 MPa

14 - 17 MPa

100 - 265 MPa

34 - 38 MPa

8. ioolDR doomeddobrbd

^..-Li. o
lapo,qJJqJr, I

(1) $d$ aej - eqseJ

(2) ioearddel-- EsDdo$d AeJ

(3) ?JEDocJ- doaaodd gej

@) rB{[,x - eRFeJe,$o$x6 gej

9.

doeE

ndded erudd dJodd (D Dqdd $gd)ao1)

ddlad drori (h) erdd, rezod: ed>oda

a6rDrbqd ?

(1)

(2)
I

ho

h
7

2h
T

(3)
2t
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(4)

(4-A)

lo. qBe drQ dnca&d ddd{o$, S 25" 15'E

die.r,

(1)

(2)

(3)

(4)

d e$dndde$ ?

115. 15',

t54 45',

2t0" t0'
330'60',

11. ?rrRdo1) $dd $$ .goai ue;ddjc,:

iodq3rdO_ 'uDot4,d_dd Eod>' 
"roa.:

ddd oiDd oeeo$ doe.:do- dod>

u$drd: z

(1) ardou3odd dJoe

(D t dd6-*noff'droo

(3) :ro"?*id,aeuiFcr drae)

(4) 4){4" doel

12. FDdi drm:";odd "aO$:doddldr

ndod,d aeodo_de$dran&d

doobd Oeoood daadojnd

idoeddd dddo- desDda'and:d

7IJ909)o6Jd r.[,3en
e.J

13. olnd dedmood rDdDiir fuddo! Dedd)

ld:ot"rd udorPd itJ,ronr i$q$
idFoie)) ieoioibQd

(1) O.72P

12) 0'79 P

(3) 0'85 P

@) 0'90 P

(1)

(2)

(3)

@)
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8.

9.
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10. In a whole circle bearing system, the

value S 25" 15' E corresponds to

(1) 115'15',

e) t54" 45',

(3) 210'10',

(4) 330'60',

11. In the context of bending moment and

shear forees, the term ?oint of
Contrallexure" occurs in which type of the

beam ?

(1) Cantilever beam

(2) Overhanging beam

(3) Sirnply supported beam

(4) Fixed be"-

12. Lacustrine soils are those soils which are

(1) Deposited in sea water

(2) Transported from running water

(3) Deposited at the bottom of the lake

G\ Drifted by wind

13. What percentage of normal consistency of

water will be added to determine the

initial setting time of the cement ?

(1) O'72P

(2) 0.79 P

(3) 0'85 P

(4) 0'90 P

Granite, Gneiss and Doleritic Su.uft I

stones have a compressive strength in the I

ranse 
I

(1) 4o - 5o MPa 
It2) 14 - 17 MPa 
I(3) 100 - 265 MPa 
I(4\ 34 - 38 MPa 
I

I

Which of the following pairs is *""".t1, 
I

matched t 
I(1) Sandstone - Igneous rock 
I(2) Limestone -Sedimentary rock I

(3) Basalt - Metamorphic rock I

t4) Granite - Argillaceous rock 
I

I

When (h) is the differen"" in h"ight" I

betrveen the extremities of chain leneth I

(l), then the correction for slope required I

isl1,| 
I

et h2 
Irl

(3) h2 
|2tl(4,+ 
I
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(1) deOotn

e) trJd dJ[Joorf'

(3) den"

@) dra^u3
o

18. {inFd 0e& md.:, aer:d d:eej toomrl

eruosorbd {dnddd: adod: ddobqd z

(1) (,6.rd6".j

(z) Eoddef {dd'
(B) dndo q*eao
(4) {do'ertdr

16. dB& iozSd#

deutr ad ?

erdduryleron, odlod

(1) doeOon"'rlestr

erou oQf,ziertr

$d:" rleu"

eJeo tgra'dettr

Q)

(3)

(4)

17. reriorJol:d +€JddO_ dr3dodlO;3 alOa

(Zeolite) ddr adod: ddol>od ?

(1) &edr droad &Ofo

(2) iraeaojJ# &Odeu,

(3) aorOpJro tuOdet

@) a$zido-o$$doeo_
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18. t8ae ad_edd iabo$ o6)Fo$d dndrd
OCgo^)J

6-r. .s laBed erdg:,dlJd @ \' r t

oedFa?d

(1)

(2t

(3)

@)

r9. &l6aroj)d d>rlrd dreOd dtodtldo$
deOdolr>

(1) ziubdr.3do$ ed6ti nd$daand:Qd

e\ ?3uDdrtdob &dd?lo&ed
nd>daandrQd

(3) dodrdoid>daand:$d

(4) oSoeacdo$ edQd idrDddEn&gd

20. o$o{ dndre)x. E, rr% d>d:o:;" k
$Q aoohp crd)a"d pt d$ ioooS

(1) E=2k(r-2p)
(2) E=3k(1 +P)

(3) E = 3k (1- 2p)

(4) E=2k(1 +p)

21. FaJtr I €&d idC updd doetd d:ee3

ad& id:aodl qDdrl$ir p $9 vpadOod
dladdoll r"odr qad ma:'dO_r.d?gd.

mrb drdQ;$ abd, np"dO_

(1)

e)

(3)

PI
;.)
PI
?
&d,

PI
8



14. The first watering before sowing of crops,

is known as

(1) Paleo

(2) Kar watering

(3) Delta

(4) Duty

15. When the natural drain is over the canal,

the structure pmvided is known as

(1) Aqueduct

Q\ Canal syphon

(3) Super passage

(4) Syphon aqueduct

16. For low navigation dams, the tlpe of the

gate used is

(1) Rolling gate

(D Vertical lift gate

(3) Drum gate

(4) Bear trap gate

17. In the formation of hydration component,

tJ:e term Zeolite represents

(1) Hydrated silica

(2) Sodium silicate

(3) Calcium silicate

(4) None ofthese

197 (7-A)

(.4)

18. The critical path in the network analysis

of time is

(1) Shortest

(2) Crashed

(3) Extended

(4) Longest

20. The relationship between Youngfs

modulw E, Bulk modulus k and Poisson's

ratio p is

(1) E=2k(1 -2p)

@) E=3k(1 +tt)

(3) E=3k(1 -2p)
(4) E=2k(1 +p)

21. A simply supported beo- of span I is

acted upon by two equal point loads, P at

one-third span from each support. The

bending moment at midspan is

(1)

(2)

(3) ze,.o

PI
3

PI
6

PI
I

10. The float of aD activity which lies on

critical path is

(1) Equal to the duration of activity

@) Equal to midpoint of the activity
(3) Equal to zero

(4) Equal to the duration of the project



{otldOoaa addn erot,sdO- 3&dd
t eel rleo;'i dooa$rao erud$l

(1)

(2)

(3)

@)

0.85 L

L

2L
0.65 L

za. {oEeaaa doddBo& 10 .g&?$add

rdn-arb{dr 120 cm enrdodo.. rlo{.3dJz3)

t Q rooo tYcm2 a:d riroeRd)d odau3

dndler;i' G = 0.8 x to6 kglcm2, vdd

doddga,

(1) fi
18

(3)

(4)

24. D€er,trd

ooJ:r9eerdoJrd>
GT

Eoeri$jed

(1) dai*f,id

Q) &nrd)ottr

(3) dBdraeloeda

@) ilDtjo" dDdo'

7l

27

27

1l

d>eer:

elDqdr

argood

danodddl
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25. roo$(t,trd rAeFDodd d>d:re.:.tr N/mm2

IS 456: 2000 OoFdlFdod

55Oo !4;
sooo 14;
53oo 14;
5oo !q;

(1)

(2)

(3)

@)

26. ddoe ,ld:ouSdOsi td:oor: a;dn

abddcdsJ ed>md qdEsodq,D dad)

--)^-JJ-'cl (J liJd (J (..\J

(1) l:7
Q) 1:6
(3) 1:5
(4) 1 :3

27. t5dzid aarln uiedl de.:ol:dO;3 0e& iod,d

dod>rodn aadn atue&ri e"dniod
d

Oeod dodJasadra.e&d e$-Ddd dJdr

(1) ne& Folid ddd

Q) 0e& er{o$ ddd

(3) 0e& ?rdd ddd

(4) €r o$a{do ere.:-

28. t;o deal (Hylrograph) o$j$& edd
df,o! odrodd

(1) ee$ dod) abQ ae.r

(2) &ee3* dod drQ ae;

(s) eodriFo doS abQ aer

(4) d>d eerbOd drQ roe.r

Q) 18
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X
22. Effective length of a column which is 25.

hinged at both ends is

(1) 0.85 L

(2) L
(3) 2L

(4) 0.65 L

23. A circular shaft subjected to torsion

undergoes a twist of f in a length of

120 cm. If maximum shear stress is

limited to 1000 kglcm2, modulus of

rigidity G = 0'8 x 106 kg/cm2, the radius

of shaft is

(1)

e)

(3)

@)

The modulus of elasticity of concrete in

N/mm2 specified in IS 456 : 2000 is

(1) 55oo v4;
e) 5ooo #ck
(3) ssoo J[
(4) 5Oo Jfck

26. The ratio of cement to sand

ferrocement should zot be less than

(1) l:7
e) 1:6
(3) 1:5
@) 1:3

ln

fi

18

18

1l

It

27

27

1l

27. The ratio of quantrty of water stored in

root zotre of crops to quantity of water

actually delivered in the field is known as

(1) Water conveyance efficiency

(2) Water application efficiency

(3) Water use efficiency

(4) None of the above

24. Admixture in concrete which improves

workability is called

(1) Plasticizer

(2) Pigment

(3) Pozzolal.a

\4) Water Proofer

Hydrograph is the graphical

representation of

(1) runoff and time

(2) surface runoff and time

(3) ground water flow and time

(4) rainfall and time

28.

197 (e-A)



29. BsDdqld) qi3r e6aJ, eQd io.tedd
zr od; rbd:d" er i6d uSO_.a O_ wo uorb$d

(1) u3oedO-

(D beefdo-

(3) ereEdd deo{d{

(4) s6add *fr, &.roddobddro$jd

so. xad>drmn ?-dl" du::;mrl doo$ aiDg 
d

eo?ldrR drc;ddr aaBd adodd

(1) ?"qd.erlqdO{srbgd

(2) d?di3 draddod roab{rr a&{d

(3) $dddoidd

(4) (1), (2) *Q rsl ao$o

81. erded

:I:dof))

(1) drd zJdoa

(2) aadg ddoa

(3) eddoe{ ddoa

$dd$ (*ror) doddoddl
d zJdoaob dJd:
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(4) erud{6ad z3dca

(10-A)

32. dooo dedrtoeiood ntueflo$ ee!6

dodrlst)

(1) {mSd*, Jad eCroJrd, agdtud
n,ue{*d; eddia)ea

Q) drod edro$d, @da:t ia)e$,

{vo$d* drQ a{dnoef,

(3) d'ad udrobd, {radgd*, 69dtud
ia)€ed)d; additueg

(4) E}da)d ia)ef, daod erdrolrd,

{wadgd* dbdt.r{d ntuefl

deoqiorn uerddl {pearaan ad:oier>

uddraad n$:5e erQwde aodd

(1)

(2)

27.5R

Y2
75R

(0.75 D2(3)

(4)

127 R

v2
127 R

sa. d)€nDedO_ aaouod ded oodrrdd:

33.

d>&oarl udrod io$ uo{ddodd

(1) d{ ooudr

e) a& a[3)a)de

(3) dUr zarA ?lt3)a)df

(4) ?l[3)tudxo od)Ef



29. When the reservoir is firll, the maximum

compressive force in a gravity dam is
produced

(1) at the toe

(2) at the heel

(3) at the centre of base

@) within middle third of base

30. Generally, the weir is aligned at right

angles to the direction of the main river

current because

(1) it ensures less length ofthe weir

(3) it is economical

(4) AII of(1), (2) and (3)

31. A sewer that receives the discharge of a

number of house sewers is called

(1) house sewer

Q) Iateral sewer

(3) intercepting sewer

197

(4) sub-main sewer

(11 -A )

32. fire sequence of four stages of survey in a
highway alignment is

(1) reconnaissance, Eap study,
preliminary survey and detailed
survey

(2) map study, preliminary survey,
reconnaissance and detailed survey

(3) map study, reconnaissance,
preliminary survey and detailed
survey

(4) preliminary survey, map study,
reconnaissance and detailed srrrvey

33. The equilibrium superelevation required

to counteract the centrifugal force fully is

(1)

(2)

27.5R

Y2
75R

(3)
(0.75 V)2

@)

t27 R

y2
t27 R

34. To carry out bituminous patchwork

during rainy season, the most suitable

binder is

(1) road tar
(2) hot bitumen

(3) cutback bitumen

(4) bituminousemulsion

(D it gives better discharging capacity



35. zflOon'ri dnodd erdd deodon'ii ere.r-?ddo

wQd: woaddd
(1) da
(2) de.l"d

(3) be*!r
(4) ddd eeg

ae. toed ISA (1oo x 1oo x 1o) mm d 
",0u,&&eraF

(1) 2000 mm2

(D 1950 mm2

(S) 1900 mm2

@) 1850 mm2

s7. oadf, (9@od *ide,
d.adoedd d:dq"B
io&dojrod

(1) Fuzpfu

eru$ dd.ded
d3nd draQ

(2)

38. ae+F (eruq) oadn t& zloed apdd
eeooDdd {od eru{ rtoedo$ wdd
doedrld d:drd uodd feo{, drdl

'adddeo2:l,d
(1) rloedrld errlel

(2) de Doo$ d:eOd zlneddd erfrr
erde.:

(3) de e^.lood: dleOd rioeddd r/+ d'o,sou

q:rle.:

G) rrr. rzr dld2 (g) odrad)dp ee_

(3)

(4)

Foz,- 
ft

rmo

4rt,a
0.66 &
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s9. dorr adrd>d ee.53:.ob{c$ z

(1) &deda3 dogeerd ecdopd

(2) qrDdd: dei&)nd&.
(3) r.Joridoo&od DF" dladtSde

(4) ddrl3o$O-e,Drldbr,&"

40. qDddra&d qqrlos ioaedaa xad:drr

5kg/cm2 edd sohdldC:
19 cm x 9 cm x 9 cm. e{rl dodud:oad

do{Oo(gd ra$drr

(1) 8'50 kg

tD 855 kg

(3) 85'5 kg

(4) 8550 kg

4r. Od>read doddO- taoSrFgegd iodero,

Oed$ drod6a*d iq:aan do.ao_d ddzi

oopdaan oa:#od t"Q

(1) &O

e) :5dd ro;d

(s) uofro"aarutf

(4) nJo-oq

42. dond ad>ot^:d: r.$d oat :reed, dS,

dndd dodod:ddo d:oard dgo3>o1>q
dudd oatS&d drrdrieri ddrlo$F)dd dnd)

(1) {dge{gtitson.
(2) 6Dod*Eon{'

(3) Euson (drd;&f)
t4) dgeaonf



35. The best example for the obstacle for

chaining but not for ranging is

( 1) River

(2) Building

(3) Hillock

(4) Open field

36.

37. The moment of resistance of . Iaterally

supported flexural steel section asr

suggested by current code of practice is

(1) 0uzpfua

Ihe gross area of
ISA(100 x 100 x 10) mm is

(1) 2000 -'"'2
(2) 1950 m'"2

(S) 1900 m-2

(4) 1850 mm2

an angle

(2)

(3)

(4)

f..
\aZoL- rmo

zofaa

0.66 fy

38. In the long and short wall method of
estimation, the length of the long wall is
the centre-to-centre distance between

walls and

(1) breadth of walls

e) half breadth ofwalls on each side

(3) one-fourth breadth of walls on each
side

(4) None of(1), (2) and (3)

197 (13-A)

39. Which of the following is aof a PERT
event ?

(1) Site investigation started

(2) Sessional work completed

(3) Bus starts from Bengaluru

(4) Class is being attended

40. A load bearing brick with a oompressive

strength of 5 fu,lcmz has dimensions

19 cm x 9 cm x 9 cm. The expected

maximum load carrying capacity of the

brick is

(1) 8'50ks
(2) 855 ks
(3) 85'5 ks
(4) 8550k9

41. A temporary enclosure in a river or lake
built around a working area for the
purpose of excluding water during the
construction is a

(1) Bund

(2) Stilling basin

(3) Cofferdam

@) Sluice

42. The method consisting of forcing the
cement grout under pressure into cracks,
fissure etc.. present in the structural
components of a building or into the
ground is known as

(1) Vibroflotating

(2) Compacting

(3) Grouting

@) Probing



43

dDdrdd)
(1) LDoa6od: cadc,

(2) a))d?60$ erd

(3)

@)

?D6?ood) qjdso x"$ddr
?.uEaoo$ uIi

/u. a:9eod dror.: aojsjerodd edd do{
eolDabd) Rod dad) "adejedc.

(1)

(2)

(3)

(4)

45. d, :,d>ou.pdC €3 CeS d do{
dedaaaadQ dooa&{dz

oa.oso. iod,do E[r-ti" 01'z cod eJda J -r[r*t;r, 6

1

=b

2

=b

o

5

4
:
b

(1)

(2)

(3)

(4\

rodnd, dBl,tr FsDdod Adroc3)

da& eru*$&o8)
dejeE dtuhonr &d)o8)+eJ
3e{aaR rldr;corbd adrout

46. €r {3 olad a.teg;19 {naintsl $" deoe
aa;[o, etlridsb oado doed d>eejjeri

nddeu oloert ?

(1) aoadlef ueo;'id>

(2) od>gr arqidc

(3) aa4r'ueo;ldc

(4) drer uqfet

197 (14-A)

47. droedF erryrieurd eDzie[,, $aton' ddo$)

d*dgolDrld d:eeJ-ri a#t olDr$d

t-oogeuf add:oaledzadd:

(1) SOVo

e) 407o

(3) 45Vo

$) SOVo

48. 30 m iddPot r"oo.rd sdddDdddO_

0.1 m erudod dodd q&dcb dod:oood

wdd ndd aoo m eqd 6"ded sDq

(1) 300'1m

(2) 301'0m

(3) 299'0 m

(4) 310'0 m

4s. erdit.rrl$t

(1) dqad drDetid dea3ded

iouopadod dDBd aadf, deajrist

(2) idderidobod adde.:or^;risir

(3) Fgdrid ddrd orldroh xat${dd1
daiel ddd: doodod{

(4) iddeiidd oo?r rR dnao3J
-J.J-JJ"].q\l,rcrc^rN I ln1J



43.

used to calculate

(1) width offoundation

(2\ depth offoundation

(3) bearing capacity of foundation

(4) type offoundation

44. The aggregate is said to be flaky if its
least dimension is less than

(1)

(2)

(3)

(4)

.15. Which of the following cements has
maximum percentage of CgS ?

(1) Ordinary portland cement

(2) Low heat cement

(3) Sulphate resisting cement

(4) Rapid hardening cement

46. Which of the following paints is
recommended for use on stucco plaster,

bricks and masonry surfaces ?

(1) Enamel paints

(2) Emulsion paints

(3) Plastic paints

(4) Oil paints

The Rankine's formula | [r - "i" o'12 '"
I L1+sinO'l

1

=b

2

=b
r)

5

4
=5

197 (15-A)

47. The aggrcgate crushing value of coarse

aggregate which is used for making

concrete, which in turn is used for
' purposes other than wearing surfaces,

should zof exceed

(1) 309o

Q) 40Va

(3) 45Vo

(4) SOVo

48. A 30 m metric chairl is found to be 0'1 m

too short throughout the measurement. If
the distance measuremetrt is recorded as

300 m, then the actual distance will be

(1) 300'1m

(2) 301'0 m

(3) 299'0 m

@) 310'0 m

49. Offsets are

(1) Lateral measurements made with
respect to main survey lines

Q) Perpendiculars erected from chain
lines

(3) Taken to avoid necessary walking
between stations

(4) Measurements which are not made
at right angles to the chain line



50 d6o$d)
zcod)rl$t)

d;{d>a3:nt;ldod0

- -J.r- .oc^J c^-\J{aJ (^J

da-

aacb doerbd a &Q zr

1530 m erodddd. erdldd

rld *qj'ld dd:ad raerd

(1)

(2)

(3)

@)

1'255 m

1'455 m

1'545 m

1'645 m

61. dod)oee
J^JJ

(1)

(2)

(3)

(4)

dddrlgri erdrod id>drd aoaood

dode&?$ t dl aoood

rlo{4@d ?.d; tucrDeod

rlo{dOad d)oQ rrogod

.c&?$ &oQ dg toa"od

62. DddrDdmabCrrd doe.:d eruddo

(1) Odoedd $dg-qGoJ>n addod&.
(D ddrddrldiD :6do"dd*qaoSran

(3) rlo{ad t-d; rao$aR addrod&.

(4) mrbadabdQoeaobnaddradd.

dxJ@
d>doaod

a

D 3.810

0.910 2.355
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58. ud {9d g%d 
" eoo;l nougoJr;3 dod

erdd ereadaod

(1) 4x

(2)

(3)

@)

54. De'
d

3r
3n
4r
4r

(1)

Q)

(3)

3n

3r
4x

dndlrex" 6l erd>aadaond

?"Q dJQ oaa$ dra&dexc

?^,Q dJQ rogeo]> d>oJ;

rDgeol) d)cJ? dq oaar.3

dnd1e.tx"

oda$ dra&deFo $dl aaoJ45tr

erdcaad

(4)

56. dr {E obdn$dod $d$olDd d:r?Fo-

ado6?rbd iorrd&eo$do$ idrder r

(1) rlodod:atr uQ rdrd id:der

Q) rlo{radnd, uQ e&d *d:der
(3) rlo{doed $dead e&d 3&der
(4) {a"od nd:de.>

56. dOii du"d doido dCRd olDd 0e,9od)

;od:dolr: io{ ?

(1) ed Fa&d
(2) oo xad>d

(3) rorot3odO xod>d

@) &eoDd Dd)d

2.165



5O. Two points A and B are 1530 m apart

across a river. Ihe reciprocal levels

measured are

Reading on

A B

A

B

2.165

0.910

3'810

2.355

The time difference in level between A
and B would be

(1) 1'255 m

(2) 1'455 m

(3) 1'545 m

@) 1'645 m

61. For ductile materials, the most

appropriate theory is

(1) maximum shear stress theory

(2) maximum principal stress theory

(3) maximum principal strain theory

(4) shear strain energy theory

52. In a beam of uniform strength

(1) the moment of resistanqe is same
throughout the length of the beam

(2) the flexural rigidity is constant
throughout the length. of the beam

(3) the maximum fibre stress is same
throughout the length of the beem

(4) bending moment
throughout

is uniform

197 (17-A)

53. The distance of the centroid of a

semi-circle of radius r from its base is

(1) 4x

Q)

3r
3r
4r
4r(3)

(4)

3n

3r
4n

54. BuIk modulus is the ratio of
(1) stress and modulus of rigidity
e) stress and volumetric strain
(3) volumetric strain and modulus of

rigidity
l4l modulus of rigidity and Poisson's

ratio

oa.

56. Which of the following scafroldingp is

suitable for stone masonr5r ?

(1) Single scaffolding

e) Double scafrolding
(3) Cantileverscaffolding
14) Suspendedscaffolding

Level @

Which one of the following planes is most

likely to be the fai.lure plane in sandy

soils ?

( f ) Planes carrying maximum shear
stress

e) Planes carrying maximum normal
stress

(3) Planes carrying mavimum angle of
obliquity

(4) Principal plane



67. €rot erudddsaOod adlot3d o$ad

o$eodab* dod&BobDd)d) ?

rld:prbd erdQ (dqrn" n*olr)
FaJ$rd.r(dd",$tl)

'rdd 
(##)

(1) abd? (2)

se. rDdrx&d dqddmd {opae.:c$, d4
io$oaerc3: dodeadd xad>drorh

udniod zone.::

(1) erd@"r ?JJRen

(2) doB eosd mRer:

(3) ,ad:rbd zaner:

(4) zscd> eoAeD

59. €eoo' ,rqdq qfloon"do- udddnd

6der:rodeo

(1)

(2)

(3)

(4)

(1)

(2)

(3)

(4)

rirsflse$$d:
ede d.,adrp)d)

-r-^-. q"l.L'J.
, puq, c^/!vqall^v

$edonr

60. ":)drae&9d aedrdoDd) qdd draq

(1) ded 0edr &d2 t"$d aedr

(2) r.{daedrd>Q deu#oedr
(3) der.:dv sedr d)d; deri gedr

(4) dezi aedr, u{d aedr, detsdtr
Sedr
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61. zJSo$ zoddo$ wdo3l{dolr &edodd

(1) eraoJDrbd pe& *a9
(2) mdd dd $Q trs oiirbed
(3) glEdairrd a3:Q;odd d{
@) erOo$irb.)d d)dl zDd ci?3Fd

62. par{ tJdd e6aodq 100 odrl$ $d;
raodcl: uocd:r m6Q t odl dordldri

rooo ddgd:dsb. Oeod erdd)
!.,j

(1) 0'864 cm

Q) 8'64 cm

(3) 86'4 cm

(4) 864 cm

68. e.od: fle$dlee3r, d>eOd ioio d:S

?)eefo$) dna.rd {d>eod e4j6doJ) eruQd)

c^J(+dN

(1) rid.geo$ ioio aqod
(2) Adf. e@d
(3) desDeo$ (,oddf,e&d aio{nler

^-Jc^Jq)dN

(4) t draerg+f erR dod dDad
oc*oeSaef aqad

64. s{$f,ed ddddC)
(1) u$dedd rlo-'"'5 dld vryodaod

JJJJ.
aiJ(,9(JqlJo

(2) dedd oJDdde qarldosl oe{dd
dodnd iodqJrdo-ddddtr

(3) looo ddFdOJi $md &oe&rbaf
cdeoi)

@\ ioqJd0eolr riod$;odddXe



57. Vicat's apparatus is used to frnd which of
the following characteristics of cement ?

(1) Setting time

(2) Consistency

(3) Soundness

@) Both (1) and (2)

58. Which of the following doors is generally

provided in public buildings such as

libraries, museums, etc. ?

(1) Ircuvered door

(2) Wire-gauged door

(3) Revolving door

(4) Sliding door

59. Hydraulic Iime is zot used in plastering

because it may result in

(1) blistering

(2) efilorescence

(3) flaking

(4) ctazing

60. Piezometric head is the sum of .

(1) velocity head and pressure head

(2) pressure head and datum head

(3) datum head and velocity head

@) velocity head, pressure head and
datum head

197 (1e-A)

61. The consumptive use of water by a crop

means water consumed by

(1) evaporation only

e) conveyance loss and evaporation

(3) transpiration and conveyance loss

(4) evaporation and transpiration

62. The base period for a particular crop is

100 days and the duty of the canal is
1000 hectares per cumec. The depth of
water will be

(1) 0'864 cm

(2) 8'64 cm

(3) 86 4 cm

(4) 864 cm

63. Mean precipitation over an area is best

obtained from gauged amounts by

(1) Arithmetic mean method

(2) Thiessen method

(3) Linearly interpolated isohyetal
method

(4) Orographically weighed isohyetal
method

64. Ihe standard Project Flood is

(1) derived from the probable maximum
precipitation in the region

(2) derived from the severemost
meteorological conditions anywhere
in the country

(3) the flood with return period of 1000
years

(q the same as the probable maximum
flood



es. idrdoesdd rerododrdodd, sd)
(1) dod or(o ,io{ $aaddQ

nubdoeoddoeio{cb
(2) adddo$dlnodDniDdd)
(s) dBddd &d: deaEdC dod ddddl

iodoMDddr
(4) udooerfooed: no[d#

66. dodo3oodd dt{ 
"ddq 

tr oCotuod>

6*aDd0rld

(1) demogeob (0eC)fudo dDd6

(2) a,rolaF erdrod dod,

(3) deaooSeo$ oed t d2 dod,
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67. * €6 
ql)ad deed io ?
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deOesdrl 45 mg tueduodd>.

(3) $aobd Oeod pH sicro$) 6 d6

ruedmddr.

(4) $ao$d &eod d)ri d:Q aandodr

do{ druld gdoeero erdoed
noa3roS: r drQ a d dd>d edsre*.

68. esdradd d"tloJ, aDFd. dr ddnd daid
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(1) {gad ioioddobrbd oeod rDg

(2) d^q,ob d>ee,* aleear

(s) doqo$ (,d

@') eru9&d.,a$F edQ
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69. arogeu, zSdoadS daloadzl rodea

(1) ?3do@ oeod doad erQd derl
(2) rSdoBoi 4rdd Dobed edsd
(3) eJdoaojr ddd eraaouad DdBd
(4) ridoaob eQd pH de3

70. adneioer aodd

(1)

Q)

(1) 270 m

(2) 200 m
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(4) 170 m

in{, ddrd ae$d ro$d dr?JFo.

deorlgt

eOe diaddabdO- z3&odolDrbd
Edr#d erCaa {d dorlero
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(4)

71. 1927 dO- aloJ:do itu,god)dl Fae&&
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(1) qadgeod) d{ oao$x"
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65. A balancing reservoir is one, which
(1) balances the peak and rninimum

flows

@) balances the distribution
(3) balances the flow rates of supply

and demand

(4) stores water for emergencies

66. Neutral axis for a beo- is defined as a

fibre for which
(1) Iongitudinal strain is zero

Q) Poisson's ratio is zero

(3) Inngitudinal stress is zero

@) Both t1) and (3)

67. Which of the following statements is

correct ?

(1) Maximum permissible limit for
chloride content in drinking water
should not exceed 250 mgr4itre.

(2) Mq..imum permissible limit for
nitrates in drinking water is
45mglbtue.

(3) pH value of drinking water should
not be more than 6.

(4) Taste and odour of drinking water
should be limited to a maximum
between 1 and 3 threshold of odour
number.

68. Which of the following parameters is zol
necessary for the desigr of a

sedimentation tank ?

(1) Volume of water to be treated per
day

Q) Surface area oftank
(3) Depth oftank
(4) Detention period

197 (21-A)

69. Corrosion of concrete sewers occurs due to

(1) High velocity offlow ofsewage

Q) Aerobic decomposition of sewage
solids

(3) Anaerobic decomposition of sewage
solids

(4) High pH value of sewage

70. Aerosol is

(1) carbon particles of microscopic size

(2) dispersion of small soUd or liquid
particles in gaseous media

(3) finely divided particles ofash

(4) diffiEed liquid droplets

(1) Indian Road Congress

(2) Central Road Fund

(3) CRRI

(4) National Highway Act

72. As per lRC, the minimum length of
transition curve for a mountainous
terrain road with radius of curvature of
100 m and design speed of vehicle
100 kmph is

(1) 270 m

(2) 200 m

(3) 100 m

(4) 170 m

71. In 1927, the Jayakar Committee was
set up to examine and report on road
development in India, based on which
certain institutions were subsequently set
up. Which of the following were the direct
outcome of the Jayakar Committee
recommendations ?
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73. Which one of tJre following items of hill
road construction does nof help in the
prevention of landslides in the monsoon

reason ?

(1) Retaining walls

(2) Cirtch-waterdrains

(3) Breast walls

(4) Hair-pin bends

74. Grades of concrete for RCC shall zot be

lower than

(1) M 10

(2) M 15

(3) M20

@) M 7'5

75. Width of carriageway for a single lane is

recommended to be

(1) 7'5 m

(2) 7'0 m

(3) 3'75 m

(4) 5'5 m

76. In limit state desigrr, permissible bond

stress in the case of deformed bars is
more than that in plain bars by

(1) 60Vo

(2) SOVo

(3) 40Vo

(4) 25Vo
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77. The purpose of lateral ties in short RC

columns is to

(1) avoid buckling of longitudinal bars

(2) facilitate construction

(3) facilitate compaction of concrete

(4) increase the load carrying capacity
of the columns

78. Expression for bending equation is

(1)

(2) M

MfE
Iy R

E
E
R
E

B

If
Mf
Iy
Mf

v

(3)

(4)
I Ey

79. Granite, after metamorphism transforms

to

(1) Quartzite
(2) Gneiss

(3) Schist

(4) Slate

8O. Mohr's scale is used to determine for

stones'

(1) toughness

(D hardness

(3) flakiness index

(4) durability
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(4) od d.! abcar,

a7 dd U:adaodeJe md, Uadddl iodJoniDd

d)idoo$ erddr^!
e.J

rb$d-o-gdr

uztrF GJddtr

d:*$ aardr

t^ltJx6 mrdf

88. O6d 900
d

&ezld:r4d

.gdJd &ed)d d)rJ,e;d:*

(1) 6Jnr einr dJ[,Sq)@cJ

t do'de, &t3er>
CJ

(2)

(3) r*dFor Bdr d)[.3,"jeJ

(1)

(2)

(3)

(4)



81. Which method is applicable to measure

workability of concrete ?

(1) Hammer test

(2\ Plate load test

(3) Vibration test

(4) Compaction factor test

82. Stress is directly proportional to strain
within the Iimit of proportionality. This is

called

(1) Pascal's law

(2) Hooke's law

(3) Abraham's law

(4) Newton's law

83. Poisson's ratio is the ratio of

(1) Lateral strain to linear strain

(2) Linear strain to lateral strain

(3) Direct stress to direct strain

\4) Shear stress to shear strain

84. Sagging bending moment is considerdd to

be

( 1) Negative bending moment

(2\ Positive bending moment

(3) Point of contrallexure

(4) Greatest bending moment
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86. Gypsum is added itr cement to

(1) lncrease its initial setting time

Q) Decrease its initial setting time

(3) Increase its compressive strength

(q Increase its bond strength

86. The soil which swells in size when it
comes in contact with water and shrinks

when it becomes dry is

(1) Clayey soil

(2) Alluvial soil

(3) Gravel

(4) Black cotton soil

87. The type of d,rn which balances the

external forces by its own weight is

(1) GravitY dam

Q\ Arch d"'"
(3) Earthen dam

(4) Buttress dam

88. lbe staircase which provides

change in direction is called

(1) DogJegged stair
(D Open vrell stair
(3) Quarter turn stair
(4) Bifurcated stair

a 90"



89. o1>d uriod: {derrdO_ uo8d: qDddQ

idaan rb d:aienrb{ae.:_

(1) xapd g&z.J: {do,

(2\ xadnd, e$a$ {do,

(3) t"d;8d:an {der,

(4) ar ob{do erer-

90. $ddr desDdrto$ adrdDdd dorad:

(1) erdd ro$do_dafld

(2) erdd rogidO-drrb,..,ad

(s) erddro$d0_udeddedd)

(4) erdd doddO-odead$ edd)

sr. {od qad doefloo:od odrd qnd

r6ddrDdopE deai eddo erud@

(1) $s{;d dnerddsa

Q) d:edp mdOadso ra*drr

(3) &dp rbo$ ioa:arod Opard

(4) 
{eeo3r iodqJrdo_drdp aao{d

197
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92. * ddnddrlc €S oa0rdd $radr

@dtud CudrlddldqdDa

(1) oaddst, ogddrl$, drd$dd,

Q) ?Ddd)B, ogddrldo, $4drid)

(3) deor{drrld:, ogddtirt, ${drlC)

(4) aei, ogddrldr, $4drld,

93. dzf;.{.o;ir.4. 0eqd"dBefFd)ot,

?,Dorlst Fe ats {eo. aogeurdo_ "attdo
xa$drr oed)dd)

(1) 250 N/mm2

(2) 415 N/mm2

(3) 230 N/mm2

(4) 190 N/mm2

94. oE (AB) deeJo$ {Bedr.Jeoon" 35o $d;
?rts, (BC) deaj od:dl 15o .aqd deaJdd

ddad ieot doed

(1)

Q)

(3)

20"

50.

160.

230"

(26-A)



89. In which of the following types of failure,

tlre ultimate load. connot be clearly

recoga.ized ?

(1) Local shear failure

(2) General shear failure

(3) Punching shear failure

(4) None ofthese

90. The phenomenon of bulking of sand

causes

(1) increase in its volume

(2) decrease in its volume

(3) no change in its volume

(4) no change in its weight

91. The load-settlement curwe from plate load

test is useful in

(1) Classification of soils

(D Determination of bearing capacity of
soils

(3) Determination of
soils

group index of

(4) determination of in-situ density of
soils

197 (27 - A)

(4) 230'

92. Select the three primary ingredients of

varnish from the following :

(1) Resins, Solvents and Driers

(2) Chalk powder, Solvents and Driers

(3) Pigments, Solvents and Driers

@) Lead, Solvents and Driers

93. HYSD reinforcement bars in concrete of
Grade Fe 415 has yield strength of

(1) Z5O N/mm2

(2) 415 N/mm2

(3) zbo N/mm2

(4) 190 N/mm2

94. If the fore bearing of line AB is 35" and

that of line BC is 15", the included angte

between lines is

(1) 20"

e) 50'

(3) 160"



95. de.td d:eej a s:od>ad crcr.oef .

100.000 m d)d; 'a' od) &dra4eti

d>doaod$ 2.4s5 m. {Beodeoon
d>doaod$ tr tprlddood ubeei z.zas m

qqd s o$ d:eOd ercf.as. zsod:

(1)

(2)

(3)

(4)

94'80 m

99'71 m

100'29 m

105'20 m

Iv=0,xH=0

xv=0,2H=0,XM=0

LM=0

>v=0

e6. * €6 olDdd) ed 8od) idid:der ue;

ddd{o$ idJx6.9ri eorl?iod Drbqd ?

(1)

(2)

(3)

(4)

97 iadrot3do' trtotrdO- dJerl,.r eru6d dod

dd odg?

(1) 20 msln2/day

(2) 40 rr3lm2fiay

(s) 67 rr3/m2tday

(4) 133 m3/m2lday
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(4) 0.25

e8. 6s ddnd r idd"7'ld €E, drar{$d (,dt6

olDd& udrod tpdd i(o'?

(1)

o)

(3)

(4)

ISMB

ISLB

ISHB

ISWB

99. 6, {6 olDd d?$ddd) dEron" fur *Q
Oarlr tjrr,i. oOaddO_erde edrdd

(1) duJ erd d:d: erdd elod
Qen

Q) $edoe{dd:dQ,

(3) d>dlre-:o cad)4!d

(4) r3do' oeed{pui"Fd)outr A&elor

roo. sriodJedd d&azi @oJDjf ud>aad'addo

ia:eaioQd

(1) 0.5

(2) 0

(3) 1'0



95. The RL of a point A on the floor is
100'000 m and back sight reading on A is

2'455 m.If fore bearing reading on part B

on ceiling is 2'7 45 m, then RL of point B

is

(1) 94'80 m

(2) 99'71 m

(3) 100'29 m

@) 105'20 m

96. Which of the following constitutee

equilibrium of concurrent coplanar force

system ?

(1) Xv=0')H=0

(D )v=0'XH=0,IM=0

(3) )M=0

(4) )v=0

97. What is the surface overflow rate in the

sedimentation tank ?

(1) 20 m9lrrzlday

(2) 40 mtslm2lday

(3) 67 m}lm2/day

(4) 133 m3/m2lday
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98. For a given depth, which of the following

I-sections represent the heaviest section ?

(1) ISMB

(2) ISLB

(3) ISHB

(4) ISWB

9O. Which of the following parameters

remains same in the working stress and

limit state method ?

(1) Neutral axis and depth factor

(2) Moment of resistance

(3) Modular ratio

(4) Area of tension reinforcement

lfi). For an incompressible material, the

Poisson's ratio approaches

(1) 0.5

(2) 0

(3) 1.0

(4) 0.25


